LABJNDu4 standard lightnessl*

Yn=Yw nc=100,

1*1 aganpua =[IN[A 1n+A2nY)I(A 20A0n)] (Yn/100<Y<=Y,c)
I* \(3,6)=348* ,(18)=791[* y(90)=1231

LABJINDu4
tristimulus value difference
Yac=Yw - nc=100,

1* aganpua =[IN[A 1n+A2YV)I(A 20A0n)] (Yn/100<Y<=Yyo)

dY=Agn(A1itAzY)  Ay=0,017, A,=0,0058
Aonpes=L5, Aon a=1,0, see CIE 230:2019
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log (AY/Y) LABJINDu4
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

1% aganpua =[IN[A 1n+A2 V(A 20A0n)] (Yn/100<Y<=Y,c)
AYIY=Ag A1 +AZYVY
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,=0,00421
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log (Y/AY) LABJINDu4
tristimulus value contrast

G Yoc=Yw - nc=100,
I* L ABaNDu4=IIN[(A 10+ A2nY)V(A 2nA0n)] (Yn/100<Y<=Yc)
YIAY=Y/[Agn(A1ntA2RY)]

=791, dY,=0,07, Y, /dY =235

Iog(Y/dY)=2,37, my= 0,1/3// ~
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LABJINDu4 relative standard lightnessl*/I*
Ync‘YW

=T
I*/I* @ nC_lOO’
%L aganbua =[IN[A 17+A2nY)V(A 20A0n)] (Yd/100<Y<=Y,0)
I \(3,6)=348 ) ,(18)=791 [* y(90)=1231

MN=36 | Yg=90

LABJNDuA4 relative

tristimulus value difference

Yoc=Yw - nc=100,

1* L aBaNDu4 =[IN[(A 10+A2nY)I(A 20A0n)] (Ynd/100<Y<=Yc)
dY/dY,=AgnA 11+AanY1/dY,

log(A Y/AY W)
AYIAY,

a;plicatijn-
1 range
1y,=18
Yw=90

log [(AY/Y) I (AYIY)] LABJINDu4 relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

%L aganDua =[IN[A 17+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y, ()
@YIYVYAYY,=(AgiAg Y)Y AYIYY]

log[(dY/YY(dY/Y)]=0, m,=-0,13 .
* =791, dY,=0,07, d¥,/Y,=0,0042 ?g’,ﬁ’é‘ga“‘)”
1,=18

=Clp log

YN=3.6

log [(Y/AY) I (YIAY),] LABJINDu4 relative
tistimulus value contrast
Gl =(YIAV)(YIAY), o 2 S Y2 L 50,
1* L aBaNDu4 =[IN[(A 10 +A2RY)J(A 20A0n)] (Yd/100<Y<=Yc)
YIAYYCYIAY ), =(YI(YIAY )A on(ArntAs I (Y/Y),

log[(Y/dYY(Y/dY)]=0, m,=0,13
* =791, dY,=0,07, Y,/dY.~ Zs5 ~
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